H & 0l & AHS B Ml A

A SAITHAE D

MM ARCAEH

Rl B2 Al EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AL TH24 10 18,447,539 17,328,061 1,119,478
= 3,014,540
== 88,000
[Ea 15,344,999
FEEAEE 17,577,837 16,820,434 757,403
= 3,014,540
< 88,000
= 14,475,297
& Al2te 11,717,336 12,334,556 AB17,220
SAAE =8 364,700 70,920 293,780
201 er23 | 55,700 556,220 480
01 At2teltl 32,200 31,720 480
oz AR S AR B4 H dA=g
100,0002 * 102 %152 15,000
o AAHEYR =& SAH|
9,000 +8 »100! 7,200
SIHLAIY LRBE SHS
10,000,000 10,000
2 5234l 23,500 23,500 0
ST AIAEEEMA2ACIANAL FAI2 ]
250,000, 0002 9% 22,500
cEXIXMLEIL S/W X2l
1,000,000& 1,000
202 04| 7,000 14,000 A7,000
01 SLHoIH 7,000 14,000 /7,000
STAAEER =X
10,0002 7 #1002 7,000
203 HR=AH] 2,000 1,700 300
03 A= PR F&IH| 2,000 1,700 300
S AITHAD PR FA
500,000 427 2,000
401 AIEHIZ SR HYI 300,000 0 300,000
01 Al&HI 300,000 0 300,000
SANIEZANE +8 89
300,000,000 300,000
KotxtE 2tel 152,636 133,636 19,000
201 er2 3| 52,636 52,636 0
01 At2teltl 19,500 19,500 0
oHAXIGHAE MI|eHM 2telt]
4,000,000 4,000
oddXlotiE &7 2eld|
4,500,000 4,500
oZdXIotAtE & CHlH|
6,000,000& 6,000
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2A:

S AIRH A4 D

B ABCAIZH
Rl B2 Al EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oXIotAte 22 QtMAIE FH|
5,000,000 5,000
02 S3=gHl 33,136 33,136 0
oHANGE HIIRB(H2, sl - =
Ol E22tH) 30,000,000& 30,000
oHMXotiE CIEE 3ld AIZZ
1,636,000& 1,636
ogddXotatE sZIICCV 28 AE=
1,500,000 1,500
401 AIEHIX 20HH 100,000 81,000 19,000
01 A28l 100,000 81,000 19,000
oY dXotitE FXl2el 100,000
-2 EHE &4 10,000,000 10,000
-SHIAIE WA 10,000,000 10,000
-LIHIOIH =222 wAH
10,000,000 10,000
-SLBASA(ZIIANEY)
10,000,000 10,000
-EHZRA 10,000,000 10,000
-XNotXtE el &X 50,000,000 50,000
2okt 4 11,200,000 12,130,000 /930,000
401 AlZHIZ S 0HbI 6,200,000 7,130,000 A830,000
01 A28l 6,000,000 6,680,000 680,000
oM 2oz HE AL
6,000,000,000& 6,000,000
2 2ol 200,000 450,000 250,000
oH2XIGHAE HEAIY 22l
200,000,000 200,000
403 AXIEHHSAH=0l 5,000,000 5,000,000
02 SO 2SO et =& 2 EF A I 5,000,000 5,000,000
oH2XIGHAE HEAL (B E72)
5,000,000,000& 5,000,000
HEEHIEt & 2t 2,674,711 2,137,688 537,023
[ 2,362,540
o 312,171
NS 22l (EX) 30,000 26,400 3,600
= 30,000
201 er23| 18,000 26,400 A\8,400
[ 18,000
01 AtR2te|b] 15,000 23,400 8,400
oIHENE Y 2 AIRSES 7Y
15,000,000 15,000
= 15,000
2 35244l 3,000 3,000 0
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A SAITHAE D
M FATAXH

&2l JHEHIEH S 2t (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SOHZRIBI P 2et =Xt S=0)
3,000,000& 3,000
= 3,000
401 Al HIZL 201 12,000 0 12,000
s 12,000
01 A28l 12,000 0 12,000
oI MBS 2E FHES £X
12,000,000 12,000
= 12,000
N MBS HE|BHAIY 1,644,711 1,111,288 533,423
[ 1,432,540
o 212,171
401 AIEHIZ SR 0HYI 1,644,711 1,111,288 533,423
= 1,432,540
T 212,171
01 Al&H| 1,641,711 1,108,288 533,423
oXAHE MEHAF SSAIE FUIAI
700,000,000& 700,000
= 630,000
[Ea 70,000
oM ST SsAIE A
891,711,000 891,711
[ 802,540
[Ea 89,171
oIJHENE S W AIES FAl2c
50,000,000& 50,000
03 AIZ 2 THYI 3,000 3,000 0
SOHLHIE TS MEI|BIAIY
3,000,000 3,000
HENEt S FRIX AL -2 E 2otALY 1,000,000 1,000,000 0
= 900,000
T 100,000
401 Al HIZL 201 1,000,000 1,000,000 0
s 900,000
= 100,000
01 Al&HI 1,000,000 1,000,000 0
ogt =2M sH5cZ SHAY
1,000,000,000& 1,000,000
= 900,000
o 100,000
SSOAS I3 & O 59,630 7,230 52,400
S30Xe =8 59,630 7,230 52,400
201 =3 9,630 7,230 2,400
01 At22t2lt] 7,230 7,230 0
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2A:

S AIRH A4 D

B ABCAIZH
el Ss0Ae 33 & e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SCIXtel M= 0l0IX 2=
1,500,000 1,500
olIXtel 2 ATEQN H2ALEZ
1,500,000& x25 3,000
STTOINOIAIAE &M U ALY
70,0003 * 1332 2,730
02 S5=g4l 2,400 0 2,400
oZdUNIxd B3R
200,000+ 123] 2,400
401 AIEBI L2 TH] 50,000 50,000
01 Al&H| 50,000 50,000
oW 9E| ZIOINQ ME 22 XA
50,000,000 50,000
ADHE2te] 3,126,160 2,340,960 785,200
= 652,000
=S 88,000
s 2,386,160
SAHEE=Z e 1,909,960 1,321,160 588,800
201 et 3| 960 5,760 24,800
02 s3=gHl 960 960 0
o2 NEE =kR=
80,000& * 122 960
401 Al HIZL 201 1,909,000 1,309,000 600,000
01 Al&H| 1,900,000 1,300,000 600,000
oL ANHEEZ K2
600,000,000& 600,000
o4 g s1Sstn SE NSs 2
HIA 500,000,000 500,000
oFUESAE FH TAIHEEZ HEAY
200,000,000 200,000
oS2dH ADJIX 2=FHIAE
350,000,000 360,000
oEEU =g 2AE Y ZAHEZZ i
A 250,000,000 250,000
03 Al 20HHI 9,000 9,000 0
ScCAAEEZ HEFA
9,000,000& 9,000
NENEZ - 50,000 50,000 0
401 AlEHIY S CHYI 50,000 50,000
01 AlZH| 50,000 50,000
oXENHEZ |X2el 50,000,000 50,000
1= 22 130,400 110,400 20,000
201 et 3| 30,400 30,400 0
01 AtR2te|Hl 10,000 10,000 0
o=e&lsE B RAIEHI
400,000 123 4,800
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2A:

S AIRH A4 D

B ABCAIZH
et TADHE 22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o28 212 34l 017 7
100,0003 %1104 1,100
oS9BNE NN 2YLY
100,000& 5 *13] 500
oS9ZNS UL ENY G2 AREE 7
= 300,000 * 122 3,600
02 S5=g4l 20,400 20,400 0
c22g S ®lez
1,700,000&  12& 20,400
401 AIEHIX 20HH 100,000 80,000 20,000
01 A28l 100,000 80,000 20,000
oS =OAIN & SEAIE FA2L
100,000,000& * 14! 100,000
SAITHAY 85,800 102,400 16,600
101 @124H| 50,000 80,000 /30,000
M JIZtHZ2SE 50,000 80,000 30,000
S CAIMHAXIZEE Q12|
50,000,000& 50,000
201 fer23| 27,800 22,400 5,400
01 AtR2t2|HI 25,400 20,000 5,400
CTAMTRHE 2% A2l
20,000,000 20,000
STADHEHR =& S|
9,000 »4E»150& 5,400
2 s5=4g4l 2,400 2,400 0
SEAMAXZLH 32
200,000 x 122 2,400
202 048l 8,000 8,000
01 2L A b 8,000 8,000
o ADHER =&
20,0002 x5 +80! 8,000
SR =5 5,000 5,000 0
401 AIZHIZ S 5,000 5,000
03 Al 20HHI 5,000 5,000
SofZ? =500 HE &8l X
5,000,000& 5,000
FOUXIS ME2H JHZAIS (BAOLS) 945,000 752,000 193,000
[ 652,000
== 88,000
= 205,000
401 Al HIZL 01| 945,000 752,000 193,000
2 652,000
[ 88,000
Ea 205,000
01 Al&HI 940,000 752,000 188,000
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2A:

S AIRH A4 D

B ABCAIZH
Chelr SADHE 2] EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oFH AN HEAHA AL
940,000,000 940,000
2 652,000
[ 88,000
T 200,000
03 Al 20HHI 5,000 0 5,000
SFOHXI MO HEAIY ZX
5,000,000& 5,000
HEES LY 778,908 422,063 356,845
s0HE =EI2 2al 75,160 58,340 16,820
s0HE wE2 Sgg 27 75,160 58,340 16,820
201 er2 3| 3,160 2,620 540
01 At2t2ltl 3,160 2,620 540
oSz 2% S0l B2 ARES
20,0002 10553 1,000
oCay 2g ¥ 2R 7 A
9,000 3 ~80 2,160
202 04| 2,000 720 1,280
01 =UHoi bl 2,000 720 1,280
occyy 29 o YR £
20, 00021 +2% +502! 2,000
401 AlEHIL L] 70,000 50,000 20,000
01 A&l 70,000 50,000 20,000
CCHY FOUBSAIM FaAY
30,000,000 30,000
o= =06 AlZ2HE At
40,000,000 40,000
s0E HIOIES2 =4 59,600 58,000 1,600
HOotsE =29 59,600 58,000 1,600
201 er23| 8,600 7,200 1,400
01 At2tltl 600 600 0
oHIUIESE 28 YR ARES
100,000 6 600
02 S3=gHl 8,000 6,600 1,400
oHIOIBY 33238, dot=k S)
600,000& * 122 7,200
oAd2e| & HHIFA
400,000& 22 800
206 M=l 1,000 800 200
01 MZH| 1,000 800 200
oxZ&elE M2(M=, &M S)
500,000 22 1,000
401 AlZHIZ SO 50,000 50,000
01 A28l 50,000 50,000
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2A:

S AIRH A4 D

M MRADISEA
tel: s0E HI0lSY =4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oHIUIESE AdE FAE+
50,000,000& 50,000
4 d=0t=21 634,068 301,743 332,325
HASTEAEY 31,127 49,798 18,671
101 21A4H| 10,527 10,198 329
04 JIZtN2Z2 XS 10,527 10,198 329
oMANS SSAIE 22| U2
167,081 5 » 12 10,025
o4l 282 10,024,860 5% 502
201 er23| 9,600 9,600
2 35234l 9,600 9,600
odJ| & £Hl |RAl2el
800,000 * 12 9,600
401 Al HIZ S OHbI 11,000 30,000 19,000
01 AlZ2H| 11,000 30,000 19,000
oNANE U SSetEd g8 EXIAE
5,500,000 +2JH 2 11,000
2EAS0IS S22 N SAY 39,637 218,837 A179,200
101 @124H| 14,077 13,637 440
M ORIMZZ2NSE S 14,077 13,637 440
cEEUF0E SSAE 22 URY
167,081 52~ 162 13,367
cAUEE = 13,366,4802 %5.31% 710
201 et 3| 3,840 3,480 360
01 AtR2tc|Hl 840 840 0
cEEAUR0E 2RI ARES
70,0003 * 122 840
02 S5=2g4l 3,000 2,640 360
oM=0IE SSAIE &JIes
50,0002 123 600
o&J| & £Hl |2l
200,000& * 128 2,400
202 04| 720 720
01 =LHOLI 720 720
cE2EUR0E 29 & 2R =X
20,0003 2& »18& 720
206 MH=HI 1,000 1,000
01 MZH| 1,000 1,000
oXZAE 22l M2 500,000 22 1,000
401 Al HIZ S 0HbI 20,000 200,000 /180,000
01 AlZ8| 20,000 200,000 180,000
oB3AEE X & RAl=e
20,000,000 20,000
H4d=0ESLd 3,369 33,108 N29,739
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2A:

S AIRH A4 D

Hm: MANSEA
el MY d=0tS2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 2,349 2,088 261
01 At2teltl 2,349 2,088 261
oCMH=0IE THAY XX SA)
9,000 3887 2,349
202 048l 1,020 1,020
01 2L A b 1,020 1,020
oHMHM=IIE THAY £
20,0003 38+ 17 1,020
OISERIAROIS-MS 559,935 559,935
401 Al HIZL 201 559,935 559,935
01 Al&HI 565,913 565,913
cUSIT AlROIS ZHAIY(202E =4 £
Z2H) 565,912, 730& 555,913
03 AIZ 2 THYI 4,022 0 4,022
CUSTIF AlROIE ZHAY FX (2029 =
H E2%4) 4,022,000& 4,022
A=AH =Y 10,080 3,980 6,100
SSFH Qa2 10,080 3,980 6,100
201 2= 9,400 3,300 6,100
01 AtR2t2lt] 9,400 3,300 6.100
oTESFY 0I5IR £X S|
9, 0002 +22 ¥50 90
cZEXH 2% AP 2SR MoITI
SIECRE-ES
100, 00024 +2524+13] 2,500
STEFEY LYl PIZIRE A o
200,000 *3E* 103 6,000
202 04| 680 680
01 =LHO LI 680 680
oTEZE 0I5} X0l
10,0003 =28 ~34& 680
SSAEXE 21,000 10,880 10,120
SSAEXE 21,000 10,880 10,120
SSAEXE 21,000 10,880 10,120
201 =3 13,800 6,080 7,720
01 At22t2l] 13,800 6.080 7,720
oSSAEXNEHR =& sl
9, 0002 4% +2002! 7,200
CRTALNAYS FT ARBE
30,0002 105102 3,000
cTTAFMOIFA &Y
30,0006 »203] 3,600
202 04| 7,200 4,800 2,400
01 =LHO LI 7,200 4,800 2,400
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2A:

S AIRH A4 D

M SSANEXE
el SSAEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
cZZAENALS =&
20,0002 x4 90 7,200
YA HHI(SAITH 44D 69,794 74,684 A4,890
el 2 E| 46,4%4 51,344 N4,890
elIg =3l 46,454 51,344 A4,890
101 e124d| 46,454 51,344 A4,890
01 &= 43,8% 48,899 N5,043
oAe2eg
11,6023 x21Z* 15412+ 123 43,8%
02 JIEtAE = 2,598 2,445 153
oAZ2RAZEE
10,8213 =2 x10A1 2H+ 123 2,598
Jl=23sl 23,340 23,340 0
JI23Hl 23,340 23,340 0
201 =3 18,540 18,540 0
01 At22t2lt] 18,540 18,540 0
cdISE 300& +3,0000H 900
olMEHEY =F MA & 248 UM S
M 5,000 250 1,250
o FAEX 25,0003 %208 A 33| 1,500
oA EH, &8
300,000 *5IH*32] 4,500
oI2lf &l 250,000& *5LH+*32] 3,750
oHINRES 8,000 x205+43] 640
SHEASE 4,800
-S4 20,0003 +52+ 128 1,200
NN 15,0003 x20=2+ 123 3,600
odI| [l 50,000& * 122 600
oZJIEE)| g 50,0002 123 600
203 2=l 4,800 4,800
MU FA2SHIFLI 4,800 4,800
=302! 0lat 400,000« 12& 4,800
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